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BACHELOR OF COMMERCE
(GENERAL) (B. COM. G)

Term-End Examination
December, 2023

BCOC-137 : CORPORATE ACCOUNTING

Time : 3 Hours Maximum Marks : 100

Note : Attempt any five questions. Each question

carries equal marks.

1. A Ltd. issued a prospectus inviting applications
for 1,00,000 shares of ¥ 10 each. These shares

were issued at par on the following terms :
On application—= 2.50

On allotment—3 2.50

On first call—X 3

On final call—=X 2

P.T.O.
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Applications were received for 1,35,000 shares.

Allotments were made on the following basis :
(1) To applications for 25,000 shares—in full.

(1) To application for 60,000 shares—45,000

shares

(111) To applications for 50,000 shares—30,000

shares

All excess amount paid on application is to be
adjusted against amount due on allotment. The
shares were fully called and paid up except the
amount of allotment, first and final call paid by
those who applied for 4,000 shares of the group
applying for 50,000 shares.

All the shares on which calls were not paid

were forfeited by the Board of Directors.

1,800 forfeited shares were re-issued as fully

paid on receipt of ¥ 9 per share.

Give Journal Entries to record the above. Also

prepare the Balance Sheet. 20
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Describe the various methods for the
redemption of debentures with suitable

examples. 20

Prepare in a summarized form the Balance
Sheet of a company as per Schedule III of
Companies Act, 2013, taking imaginary figures.

20

What do you mean by cash flow statement ?
How 1is cash flow statement differ from income

statement ? 5+15

What is meant by ‘Holding Company’ ? Explain
the advantages and disadvantages of Holding

company. 10+10

Discuss the various methods of valuation of
shares. Describe and illustrate ‘Earning

capacity method’ of valuation of shares. 20

Write short notes on the following : 6+7+7

(1) External Reconstruction of a company

P.T.O.
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(1)) Amalgamation in the nature of merger

(111) Amalgamation in the nature of purchase

What are ‘Non-Performing Assets’ ? How 1is

income accrued in respect of Non-performing

Assets dealt with by the Banks ? Explain. 5+15

What do you mean by Commercial Banks ?
Explain the primary and secondary functions of

a commercial bank. 10+10
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1,35,000 33 & faQ smeRa wr gul
frefafad e W sde fouw 7T .

(i) 25,000 TR & SMEZHI HI-TA

(i) 60,000 I & SAERHI HI-45,000 I
(i) 50,000 T & 3EZHI HI-30,000 IR
AT W U gt e AT w1 eAeeT W
37 ufer o wumEfsa fewan smam
stoffl W wegel wfer wift T qen gl &
T 4,000 M & SAEZHI gRT S 50,000 390
& fau welm & ot 9§ ¥ 9, eded, yom
M= el TTH A=A kT A &1 fhan |
s 3N 1, S W AEell w1 T T8l
foran =, wElelh HUSA gRI 3TUgIUl ki forn

el

1,800 3TURld A9 &1 T 9 Wfd 1% & fewa 4,
yuieq Sfen o A fim w1 fen
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SWF & fau wHa wfafedr dfSw qeon o

o L} nes
el IR CIISIY 20

RO & WA S fafv= fafial o sfud

30T Afed 9ufa wifs| 20

FAA SAfufeE, 2013 & ST I ® FIER
T A & foee o1 dfea gu shiedtien
T TR SAET| 20

{ehg WoTe faerol ¥ 39 &1 §Hed § 2 Uhs
yare faexor 31 faaxo ¥ ffe ger fa=1 @ 2

5+15
‘e FIE 9 oY N 9EEd © 2 Frees
HIAT & Al 9 BIfHE T U Sifsu)

10+10
el & Hoaiwd w1 fafw= fafemi o1 =i
hifee| U &Har fafer &1 3S<eor gfeq ooie
hifSTq| 20
frfafea w dfera fewforr fafae @ 6+7+7

(i) TH S T G&I GAAH

P.T.O.
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(i) a9 =t YHfd T THIHT

(i) ST I Ghld T Tehichul

8. MR-Froqfeq wwafaal ¥ M9 1 9 & 2 o
Tofal W ofd ™ @ d% fhd UHR
SIET-SIEl i © 7 Ui ity 5+15

9. aftisdes Sh] ¥ T RN GEI & ? TH
aifoieges o & wufger qun fgdiaes &l &
U HifSTu| 10+10
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